Chapter One

Property, Plant, and Equipment (IAS 16)
1.1 Introduction 
As you have discussed in earlier courses we can classify assets in to current assets and noncurrent/long-term or fixed assets. What are current assets? How do they differ from noncurrent assets? Long-term assets can also be classified in to tangible and intangible assets. 

A. Tangible

· They do have physical existence
·  They are sub classified into plant assets and natural resources
B. Intangible Assets

· Do not have physical existence

· Examples, include goodwill, copyrights, patents, trademarks, franchises, etc

· The costs of acquired intangible assets amortized over their estimated economic lives.

Plant assets 
Other terms commonly used are property, plant and equipment (PPE), and fixed assets. We use these terms interchangeably. Property, plant, and equipment include land, building structures (offices, factories, warehouses), and equipment (machinery, furniture, tools). PPE are characterized by
(i) Acquired for use in operations and not for resale but they are not incorporated into finished goods as raw materials do. Only assets used in normal business operations are classified as property, plant, and equipment. For example, an idle building is more appropriately classified separately as an investment. Land developers or sub-dividers classify land as inventory.

(ii) Long-term in nature and usually depreciated. Property, plant, and equipment yield services over a number of years. Companies allocate the cost of the investment in these assets to future periods through periodic depreciation charges. The exception is land, which is depreciated only if a material decrease in value occurs, such as a loss in fertility of agricultural land because of poor crop rotation, drought, or soil erosion.

(iii) Possess physical substance. Property, plant, and equipment are tangible assets characterized by physical existence or substance. This differentiates them from intangible assets, such as patents or goodwill. Unlike raw material, however, property, plant, and equipment do not physically become part of a product held for sale.
Natural Resources

-
These are resources that are going to be exhausted (i.e. finished) through extraction.

-
Examples include oil and gas deposits, timber, mineral deposits, etc.

-
The costs of acquiring and developing natural resources are allocated to expenses through a process of depletion. 
1.2 Acquisition cost of PPE
-
The total cost of plant asset is the cash paid, or its equivalent, made to acquire the asset and place it in operating condition.
-
The costs of acquiring plant assets could be considered as long-term deferral, which is paying in advance for the future bundle of services going to be enjoyed but delaying to recognize them as an expense at the time of payment.

-As time passed by plant assets are going to depreciate and you can compute their carrying value (or book value) which is, Cost-Accumulated Depreciation.
Further, companies add to the asset’s original cost any related costs incurred after the asset’s acquisition, such as additions, improvements, or replacements, if they provide future service potential. Otherwise, they will expense these costs immediately.
· Under IFRS, companies can use either the historical cost model or the revaluation model. As per the historical cost model, companies should not write up property, plant, and equipment to reflect fair value when it is above cost subsequent to acquisition. The main reasons for this position are as follows.

1. Historical cost involves actual, not hypothetical, transactions and so is the most reliable.

2. Companies should not anticipate gains and losses but should recognize gains and losses only when the asset is sold.
However, if the fair value of the property, plant, and equipment is less than its carrying amount, the asset may be written down. These situations occur when the asset is impaired and in situations where the asset is being held for sale. A long-lived asset classified as held for sale should be measured at the lower of its carrying amount or fair value less cost to sell. In that case, a reasonable valuation for the asset can be obtained, based on the sales price. A long-lived asset is not depreciated if it is classified as held for sale. This is because such assets are not being used to generate revenues.

Cost of Land
All expenditures made to acquire land and ready it for use are considered part of the land cost. Land costs typically include:-

(1) purchase price;

(2) closing costs, such as title to the land, attorney’s fees, and recording fees; 

(3) costs of grading, filling, draining, and clearing;

(4) assumption of any liens, mortgages, or encumbrances on the property; and 

(5) additional land improvements that have an indefinite life.

For example, if ABC co. purchases land for the purpose of constructing a building, it considers all costs incurred up to the excavation for the new building as land costs. Removal of old buildings—clearing, grading, and filling—is a land cost because this activity is necessary to get the land in condition for its intended purpose. Further if ABC co. assumes certain obligations on the land such as back taxes or liens. In such situations, the cost of the land is the cash paid for it, plus the encumbrances. In other words, if the purchase price of the land is $50,000 cash, but ABC assumes accrued property taxes of $5,000 and liens of $10,000, its land cost are $65,000.
Any proceeds from getting the land ready for its intended use, such as salvage receipts on the demolition of an old building or the sale of cleared timber, as reductions in the price of the land.

Generally, land is part of property, plant, and equipment. However, if the major purpose of acquiring and holding land is speculative, a company more appropriately classifies the land as an investment. If a real estate concern holds the land for resale, it should classify the land as inventory.

Cost of Buildings

The cost of buildings should include all expenditures related directly to their acquisition or construction. Cost typically includes:-

1. materials, labor, and overhead costs(including liability insurance coverage cost) incurred during construction, and

2. professional fees and building permits.
Generally, Companies should consider all costs incurred, from excavation to completion, as part of the building costs.
But how should companies account for an old building that is on the site of a newly proposed building? Is the cost of removal of the old building a cost of the land or a cost of the new building? This can be seen from two different angels;

(a) If it has been acquired with the land with prior intention of demolishing it to prepare the land for the new building, it is included in the land account.

(b) If it is used in operation after acquisition, it is treated as loss on retirement of old building (Neither part of land nor part of new building, it is periodic expense)
Cost of Equipment

The term “equipment” in accounting includes delivery equipment, office equipment, machinery, furniture and fixtures, furnishings, factory equipment, and similar fixed assets.

Cost of Equipment includes all costs incurred in acquiring the equipment and preparing it for use.  Costs typically include, the purchase price, freight and handling charges incurred, insurance on the equipment while in transit, cost of special foundations if required, assembling and installation costs, and costs of conducting trial runs
Self-Constructed Assets

Occasionally, companies construct their own assets. Determining the cost of such machinery and other fixed assets can be a problem. Without a purchase price or contract price, the company must allocate costs and expenses to arrive at the cost of the self-constructed asset. Materials and direct labor used in construction pose no problem. A company can trace these costs directly to work and material orders related to the fixed assets constructed. However, the assignment of indirect costs of manufacturing creates special problems. These indirect costs, called overhead or burden, include power, heat, light, insurance, property taxes on factory buildings and equipment, factory supervisory labor, depreciation of fixed assets, and supplies.

Companies can handle indirect costs in one of two ways:

1. Assign no fixed overhead to the cost of the constructed asset. The major argument for this treatment is that indirect overhead is generally fixed in nature. It does not increase as a result of a company constructing its own plant or equipment. This approach assumes that the company will have the same costs regardless of whether it constructs the asset or not. Therefore, to charge a portion of the overhead costs to the equipment will normally reduce current expenses and consequently overstate income of the current period. However, the company would assign to the cost of the constructed asset variable overhead costs that increase as a result of the construction.

2. Assign a portion of all overhead to the construction process. This approach, called a full-costing approach, follows the belief that costs should attach to all products and assets manufactured or constructed. Under this approach, a company assigns a portion of all overhead to the construction process, as it would to normal production. Advocates say that failure to allocate overhead costs understates the initial cost of the asset and results in an inaccurate future allocation.

Companies should assign to the asset a pro rata portion of the fixed overhead to determine its cost. Companies use this treatment extensively because many believe that it results in a better recognition of these costs in periods benefited. If the allocated overhead results in recording construction costs in excess of the costs that an outside independent producer would charge, the company should record the excess overhead as a period loss rather than capitalize it. This avoids capitalizing the asset at more than its probable fair value.

Interest Costs during Construction(borrowing cost IAS 23)
The proper accounting for interest costs has been a long-standing controversy. Three approaches have been suggested to account for the interest incurred in financing the construction of property, plant, and equipment:

1. Capitalize no interest charges during construction. Under this approach, interest is considered a cost of financing and not a cost of construction. Some contend that if a company had used stock (equity) financing rather than debt, it would not incur this cost. The major argument against this approach is that the use of cash, whatever its source, has an associated implicit interest cost, which should not be ignored.

2. Charge construction with all costs of funds employed, whether identifiable or not.
This method maintains that the cost of construction should include the cost of financing, whether by cash, debt, or stock. Its advocates say that all costs necessary to get an asset ready for its intended use, including interest, are part of the asset’s cost. Interest, whether actual or imputed, is a cost, just as are labor and materials. A major criticism of this approach is that imputing the cost of equity capital (stock) is subjective and outside the framework of an historical cost system.

3. Capitalize only the actual interest costs incurred during construction. This approach agrees in part with the logic of the second approach—that interest is just as much a cost as are labor and materials. But this approach capitalizes only interest costs incurred through debt financing. (That is, it does not try to determine the cost of equity financing.) Under this approach, a company that uses debt financing will have an asset of higher cost than a company that uses stock financing. Some consider this approach unsatisfactory because they believe the cost of an asset should be the same whether it is financed with cash, debt, or equity.

IFRS requires the third approach—capitalizing actual interest (with modification). This method follows the concept that the historical cost of acquiring an asset includes all costs (including interest) incurred to bring the asset to the condition and location necessary for its intended use. The rationale for this approach is that during construction, the asset is not generating revenues. Therefore, a company should defer (capitalize) interest costs.  Once construction is complete, the asset is ready for its intended use and a company can earn revenues. At this point, the company should report interest as an expense and match it to these revenues. It follows that the company should expense any interest cost incurred in purchasing an asset that is ready for its intended use.

To implement this general approach, companies consider three items:

1. Qualifying assets.

2. Capitalization period.

3. Amount to capitalize.
Qualifying Assets
To qualify for interest capitalization, assets must require a period of time to get them ready for their intended use. A company capitalizes interest costs starting with the first expenditure related to the asset. Capitalization continues until the company substantially readies the asset for its intended use.

Assets that qualify for interest cost capitalization include assets under construction for a company’s own use (including buildings, plants, and large machinery) and assets intended for sale or lease that are constructed or otherwise produced as discrete projects (e.g., ships or real estate developments).

Examples of assets that do not qualify for interest capitalization are (1) assets that are in use or ready for their intended use, and (2) assets that the company does not use in its earnings activities and that are not undergoing the activities necessary to get them ready for use. Examples of this second type include land remaining undeveloped and assets not used because of obsolescence, excess capacity, or need for repair.

Capitalization Period
The capitalization period is the period of time during which a company must capitalize interest. It begins with the presence of three conditions:

1.  Expenditures for the asset have been made.

2.  Activities that are necessary to get the asset ready for its intended use are in progress.

3.  Interest cost is being incurred.

Interest capitalization continues as long as these three conditions are present. The capitalization period ends when the asset is substantially complete and ready for its intended use.

Amount to Capitalize

The amount of interest to capitalize is limited to the lower of actual interest cost incurred during the period or avoidable interest. Avoidable interest is the amount of interest cost during the period that a company could theoretically avoid if it had not made expenditures for the asset. If the actual interest cost for the period is $90,000 and the avoidable interest is $80,000, the company capitalizes only $80,000. Or, if the actual interest cost is $80,000 and the avoidable interest is $90,000, it still capitalizes only $80,000. In no situation should interest cost include a cost of capital charge for stockholders’ equity. To apply the avoidable interest concept, a company determines the potential amount of interest that it may capitalize during an accounting period by multiplying the interest rate(s) by the weighted-average accumulated expenditures for qualifying assets during the period.

Weighted-Average Accumulated Expenditures: In computing the weighted-average accumulated expenditures, a company weights the construction expenditures by the amount of time (fraction of a year or accounting period) that it can incur interest cost on the expenditure.

Interest Rates:  Companies follow these principles in selecting the appropriate interest rates to be applied to the weighted-average accumulated expenditures:

1. For the portion of weighted-average accumulated expenditures that is less than or equal to any amounts borrowed specifically to finance construction of the assets, use the interest rate incurred on the specific borrowings.

2. For the portion of weighted-average accumulated expenditures that is greater than any debt incurred specifically to finance construction of the assets, use a weighted average of interest rates incurred on all other outstanding debt during the period.
· interest costs incurred during construction must be capitalized. 
Comprehensive Example of Interest Capitalization

To illustrate the issues related to interest capitalization, assume that on November 1, 2011, Shalla Company contracted Pfeifer Construction Co. to construct a building for $1,400,000 on land costing $100,000 (purchased from the contractor and included in the first payment). Shalla made the following payments to the construction company during 2012.

     January 1            March 1       May 1             December 31          Total
      $210,000           $300,000     $540,000           $450,000          $1,500,000

Pfeifer Construction completed the building, ready for occupancy, on December 31, 2012. Shalla had the following debt outstanding at December 31, 2012.
Specific Construction Debt

	1. 15%, 3-year note to finance purchase of land and construction of the building, dated December 31, 2011, with interest payable annually on December 31
	$750,000


Other Debt

	2. 10%, 5-year note payable, dated December 31, 2008, with interest payable annually on December 31
	$550,000

	3. 12%, 10-year bonds issued December 31, 2007, with interest payable annually on December 31
	$600,000


Required:

A. Determine which assets qualify for capitalization of interest.

B. Determine the capitalization period.
C. Compute the expenditures during the capitalization period.

D. Compute the weighted-average accumulated expenditure.
E. Compute the actual interest cost incurred

F. Compute avoidable interest.

G. Determine the interest cost to be capitalized.
H. Make all necessary journal entries.
Shalla computed the weighted-average accumulated expenditures during 2012 as shown in the following page
	Expenditures


	Current-Year Capitalization Period
	Weighted-Average Accumulated Expenditures

	Date
	Amount
	
	

	January 1
	$ 210,000
	X   12/12
	210000

	March 1
	300,000
	X   10/12
	250,000

	May 1
	540,000
	X     8/12
	360,000

	December 31
	450,000
	X     0/12
	0

	Total
	$1,500,000
	
	$820,000


Note that the expenditure made on December 31, the last day of the year, does not have any interest cost.
Shalla computes the avoidable interest as shown in table below

	Weighted-Average Accumulated Expenditures
	Interest Rate
	Avoidable Interest

	$750,000
	0.15 (construction note)
	$112,500

	70,000 a
	0.1104 (weighted average of other debt)b
	7,728

	$820,000
	
	$120,228


a) The amount by which the weighted-average accumulated expenditures exceeds the specific construction loan.
b)  Weighted-average interest rate computation:               Principal        Interest

                    10%, 5-year note                                         
      $ 550,000      $ 55,000

                    12%, 10-year bonds                                                 600,000          72,000
                                                                                                   $1,150,000      $127,000

Weighted-average interest rate =   Total interest   = $127,000 = 11.04%

                                                          Total principal     $1,150,000

The company determines the actual interest cost, which represents the maximum amount of interest that it may capitalize during 2012,


Construction note                         $750,000 X .15 = $112,500

                5-year note                               $550,000 X .10 =      55,000

              10-year bonds                             $600,000 X.12    =   72,000

              Actual interest                                                         $239,500

The interest cost that Shalla capitalizes is the lesser of $120,228 (avoidable interest) and $239,500 (actual interest), or $120,228.

Shalla records the following journal entries during 2012:

January 1
                Land                                                              100,000

                Buildings (or Construction in Process)           110,000

                                             Cash                                                                          210,000
March 1

                Buildings                                                        300,000

                                             Cash                                                                          300,000

May 1

                Buildings                                                        540,000

                                            Cash                                                                           540,000

December 31

                Buildings                                                        450,000

                                            Cash                                                                           450,000

         Buildings (Capitalized Interest)                               120,228

         Interest Expense ($239,500 2 $120,228)                 119,272

                                 Cash ($112,500 1 $55,000 1 $72,000)                                 239,500

Shalla should write off capitalized interest cost as part of depreciation over the useful life of the assets involved and not over the term of the debt. It should disclose the total interest cost incurred during the period, with the portion charged to expense and the portion capitalized indicated.

At December 31, 2012, Shalla discloses the amount of interest capitalized either as part of the non-operating section of the income statement or in the notes accompanying the financial statements.

If Capitalized Interest reported in the Income Statement, it takes the following form:

Income from operations                                                                                    XXXX

Other expenses and losses:

***Interest expense                                                            $239,500

***Less: Capitalized interest                                                120,228               119,272
Income before income taxes                                                                              XXXX

Income taxes                                                                                                        XXX
Net income                                                                                                         XXXX

Or if Capitalized Interest disclosed in a Note presented as;
	Note: Accounting Policies. Capitalized Interest during 2012, total interest cost was $239,500, of which $120,228 was capitalized and $119,272 was charged to expense.


1.3   Measurement(Valuation) of PPE

Like other assets, companies should record property, plant, and equipment at the fair value of what they give up or at the fair value of the asset received, whichever is more clearly evident. However, the process of asset acquisition sometimes obscures fair value. So that, in this sub section we try to look some of accounting problems in valuation of Property, plant and equipment.
Cash Discounts

When a company purchases plant assets subject to cash discounts for prompt payment, how should it report the discount?

There are two points of view exist on this question.

1. Considers the discount—whether taken or not—as a reduction in the cost of the asset.

The rationale for this approach is that the real cost of the asset is the cash or cash equivalent price of the asset. In addition, some argue that the terms of cash discounts are so attractive that failure to take them indicates management error or inefficiency.

2. Failure to take the discount should not always be considered as loss.

The rationale for this approach is the terms may be unfavorable, or it might not be prudent for the company to take the discount.

At present, companies use both methods, though most prefer the former method.

Deferred-Payment Contracts

Companies frequently purchase plant assets on long-term credit contracts, using notes, mortgages, bonds, or equipment obligations. To properly reflect cost, companies account for assets purchased on long-term credit contracts at the present value of the consideration exchanged between the contracting parties at the date of the transaction.

Example: Greathouse Company purchases an asset today in exchange for a $10,000 zero-interest-bearing note payable four years from now. Assume an appropriate interest rate is 9 %. At what amount Greathouse should record this asset?

The present value of the $10,000 note establishes the exchange price of the transaction (the purchase price of the asset).

              PVFn, i =    FV     =     10000   = $7,084.30

                                (1 + i) n     (1+ 0.09)4
When no interest rate is stated, or if the specified rate is unreasonable, the company imputes an appropriate interest rate. The objective is to approximate the interest rate that the buyer and seller would negotiate at arm’s length in a similar borrowing transaction. In imputing an interest rate, companies consider such factors as the borrower’s credit rating, the amount and maturity date of the note, and prevailing interest rates. The company uses the cash exchange price of the asset acquired (if determinable) as the basis for recording the asset and measuring the interest element.

Illustration: Sutter Company purchases a specially built robot spray painter for its production line. The company issues a $100,000, five-year, zero-interest-bearing note to Wrigley Robotics, Inc. for the new equipment. The prevailing market rate of interest for obligations of this nature is 10 percent. Sutter is to pay off the note in five $20,000 installments, made at the end of each year. Sutter cannot readily determine the fair value of this specially built robot. Therefore, Sutter approximates the robot’s value by establishing the fair value (present value) of the note. Compute the present value of the Note and pass the necessary entries at the date of purchase and dates of payments.

PVF-OA n,i=     R [ 1-(1+i)-n]   = 20000 [1-(1+0.1)-5)  =  $ 75,816



           i

   0.1

Journal entries

At the date of purchase

Equipment                                                            75,816*

Discount on Notes Payable                                    24,184

                              Notes Payable                                                    100,000

Interest expense of the first year under the effective interest approach;

Interest expense = carrying amount of the note X interest rate



   = 75,816 X 10%



   = $7581.6 ( $7582

Entry at the end of the first year;


                Interest Expense                                             7,582

                            Notes Payable                                               20,000

                                     Cash                                                                         20,000

                                     Discount on Notes Payable                                        7,582

Interest expense of the second year under the effective interest approach;

 Interest expense = carrying amount of the note X interest rate



    = (75816-20,000+7,582) X 10% = $6339.8 ( $6340

Entry at the end of the second year;



Interest expense

           6,340



Notes payable


         20,000






Cash 




20,000






Discount on Notes payable

  6,340

The same process and entries passes followed for the remaining years.
Lump-Sum Purchases

A special problem of valuing fixed assets arises when a company purchases a group of plant assets at a single lump-sum price. When this common situation occurs, the company allocates the total cost among the various assets on the basis of their relative fair values. The assumption is that costs will vary in direct proportion to fair value.

Illustration:

Norduct Homes, Inc. decides to purchase several assets of a small heating concern, Comfort Heating, for $80,000. Comfort Heating is in the process of liquidation. Its assets sold are:


                                                  Book Value                                           Fair Value

                  Inventory                                 $ 30,000                                              $ 25,000

                  Land                                           20,000                                                 25,000

                  Building                                     35,000                                                 50,000
                                                                   $85,000                                             $100,000

Norduct Homes allocates the $80,000 purchase price on the basis of the relative fair values (assuming specific identification of costs is impracticable) in the following manner.

Inventory              25,000   X $80,000 = $ 20,000


                       100,000
               

Land

25,000  X $80,000 = $ 20,000
                              100,000

Building                 50,000 X $ 80,000 = $ 40,000

                              100,000

Issuance of Stock

When companies acquire property by issuing securities, such as common stock, the par or stated value of such stock fails to properly measure the property cost. If trading of the stock is active, the market price of the stock issued is a fair indication of the cost of the property acquired. The stock is a good measure of the current cash equivalent price.

Example: Upgrade Living Co. decides to purchase some adjacent land for expansion of its carpeting and cabinet operation. In lieu of paying cash for the land, the company issues to Deedland Company 5,000 shares of common stock (par value $10) that have a fair value of $12 per share. Upgrade Living Co. records the following entry.

           Land (5,000 X $12)                         

   60,000

                                           Common Stock                                       50,000

  Paid-In Capital in Excess of Par—Common Stock                         10,000

If the company cannot determine the market price of the common stock exchanged, it establishes the fair value of the property. It then uses the value of the property as the basis for recording the asset and issuance of the common stock.

Exchanges of Nonmonetary Assets
Ordinarily companies account for the exchange of nonmonetary assets on the basis of the fair value of the asset given up or the fair value of the asset received, whichever is clearly more evident. Thus, companies should recognize immediately any gains or losses on the exchange. The rationale for immediate recognition is that most transactions have commercial substance, and therefore gains and losses should be recognized.

An exchange has commercial substance if the future cash flows change as a result of the transaction. That is, if the two parties’ economic positions change, the transaction has commercial substance. Therefore, to determine whether a transaction has commercial substance, companies must carefully evaluate the cash flow characteristics of the assets exchanged.
Summary of asset exchange situations and the related accounting Guidance 

	Type of Exchange
	Accounting Guidance

	Exchange has commercial substance
	Recognize gains and losses immediately

	Exchange lacks commercial substance—no cash received
	Defer gains; recognize losses immediately.

	Exchange lacks commercial substance—cash received
	Recognize partial gain; recognize losses immediately*.

	*If cash is 25% or more of the fair value of the exchange, recognize entire gain because earnings process is complete.


· gains on exchanges of non-monetary assets be recognized if the exchange has commercial substance. 

To illustrate the accounting for these different types of transactions, various loss and gain exchange situations examined below.

Exchanges—Loss Situation

When a company exchanges nonmonetary assets and a loss results, the company recognizes the loss immediately. The rationale: Companies should not value assets at more than their cash equivalent price; if the loss were deferred, assets would be overstated. Therefore, companies recognize a loss immediately whether the exchange has commercial substance or not.

Example: Information Processing, Inc. trades its used machine for a new model at Jerrod Business Solutions Inc. The exchange has commercial substance. The used machine has a book value of $8,000 (original cost $12,000 less $4,000 accumulated depreciation) and a fair value of $6,000. The new model lists for $16,000. Jerrod gives Information Processing a trade-in allowance of $9,000 for the used machine. Information Processing computes the cost of the new asset as follows.



List price of new machine                                                 $16,000

                      Less: Trade-in allowance for used machine                            9,000


Cash payment due                                                                7,000



Fair value of used machine                                                   6,000


Cost of new machine                                                         $13,000
Information Processing records this transaction as follows.



Equipment




 13,000



Accumulated Depreciation—Equipment 
   4,000



Loss on Disposal of Equipment 

   2,000





Equipment




 12,000





Cash 





   7,000

We verify the loss on the disposal of the used machine as follows.



Fair value of used machine 


$6,000



Less: Book value of used machine

  8,000


Loss on disposal of used machine

 $2,000

Exchanges—Gain Situation

Has Commercial Substance. Now let’s consider the situation in which a nonmonetary exchange has commercial substance and a gain is realized. In such a case, a company usually records the cost of a nonmonetary asset acquired in exchange for another nonmonetary asset at the fair value of the asset given up, and immediately recognizes a gain. The company should use the fair value of the asset received only if it is more clearly evident than the fair value of the asset given up.

Illustration:  Interstate Transportation Company exchanged a number of used trucks plus cash for a semi-truck. The used trucks have a combined book value of $42,000 (cost $64,000 less $22,000 accumulated depreciation). Interstate’s purchasing agent, experienced in the second hand market, indicates that the used trucks have a fair value of $49,000. In addition to the trucks, Interstate must pay $11,000 cash for the semi-truck. Interstate computes the cost of the semi-truck as follows.


           Fair value of trucks exchanged                          $49,000

                      Cash paid                                                           11,000
                      Cost of semi-truck                                              $60,000

Interstate records the exchange transaction as follows.



Trucks (semi)




 60,000



Accumulated Depreciation—Trucks

 22,000




Trucks (used)




     64,000




Gain on Disposal of Trucks 


       7,000




Cash





     11,000

The gain is the difference between the fair value of the used trucks and their book value. We verify the computation as follows.



Fair value of used trucks 



    $49,000



Cost of used trucks 


          $64,000



Less: Accumulated depreciation 

22,000


Book value of used trucks



    (42,000)



Gain on disposal of used trucks


    $ 7,000

Lacks Commercial Substance—No Cash Received. We now assume that the Interstate Transportation Company exchange lacks commercial substance. That is, the economic position of Interstate did not change significantly as a result of this exchange. In this case, Interstate defers the gain of $7,000 and reduces the basis of the semi-truck. Two different but acceptable computations to illustrate this reduction presented below;

Fair value of semi-truck    $60,000 

Book value of used trucks 
$42,000

Less: Gain deferred
           7,000 
   OR
Plus: Cash paid

  11,000
Basis of semi-truck
       $53,000

Basis of semi-truck 

$53,000

Interstate records this transaction as follows.


Trucks (semi) 




53,000


Accumulated Depreciation—Trucks 

22,000




Trucks (used) 




64,000




Cash 





11,000

Lacks Commercial Substance—Some Cash Received. When a company receives cash (sometimes referred to as “boot”) in an exchange that lacks commercial substance, it may immediately recognize a portion of the gain.

The general formula for gain recognition when an exchange includes some cash is

_________________Cash Received (Boot)___________           X    Total Gain = Recognized   Cash Received (Boot) + Fair Value of Other Assets Received 


      Gain

To illustrate, assume that Queenan Corporation traded in used machinery with a book value of $60,000 (cost $110,000 less accumulated depreciation $50,000) and a fair value of $100,000. It receives in exchange a machine with a fair value of $90,000 plus cash of $10,000. The calculation of the total gain on the exchange is as follows 



Fair value of machine exchanged


 $100,000



Less: Book value of machine exchanged 

     60,000


Total gain 





  $ 40,000

Generally, when a transaction lacks commercial substance, a company defers any gain. But because Queenan received $10,000 in cash, it recognizes a partial gain. The portion of the gain a company recognizes is the ratio of monetary assets (cash in this case) to the total consideration received. Queenan computes the partial gain as follows.


___$10,000 ___    X $ 40,000 =$ 4,000

           $10,000 + $90,000

Because Queenan recognizes only a gain of $4,000 on this transaction, it defers the remaining $36,000 ($40,000 - $4,000) and reduces the basis (recorded cost) of the new machine. The computation of the basis is



Fair value of new machine     $90,000
Book value of old machine 

 $60,000

Less: Gain deferred

   36,000 OR 
Portion of book value presumed sold 
    6,000*
Basis of new machine
            $54,000 
(10% of 60,000)







Basis of new machine
                        $54,000

Queenan records the transaction with the following entry.



Cash




 10,000



Machinery (new)


 54,000

Accumulated Depreciation—Machinery

 50,000





Machinery (old) 


110,000



Gain on Disposal of Machinery


    4,000

The rationale for the treatment of a partial gain is as follows: Before a nonmonetary exchange that includes some cash, a company has an unrecognized gain, which is the difference between the book value and the fair value of the old asset. When the exchange occurs, a portion of the fair value is converted to a more liquid asset. The ratio of this liquid asset to the total consideration received is the portion of the total gain that the company realizes. Thus, the company recognizes and records that amount.

Accounting for Contributions

Companies sometimes receive or make contributions (donations or gifts). Such contributions, nonreciprocal transfers, transfer assets in one direction. A contribution is often some type of asset (such as cash, securities, land, buildings, or use of facilities), but it also could be the forgiveness of a debt. 

When companies acquire assets as donations, a strict cost concept dictates that the valuation of the asset should be zero. However, a departure from the cost principle seems justified; the only costs incurred (legal fees and other relatively minor expenditures) are not a reasonable basis of accounting for the assets acquired. To record nothing is to ignore the economic realities of an increase in wealth and assets. Therefore, companies use the fair value of the asset to establish its value on the books.

What then is the proper accounting for the credit in this transaction? Some believe the credit should be made to Donated Capital (an additional paid-in capital account). This approach views the increase in assets from a donation as contributed capital, rather than as earned revenue.

Others argue that companies should report donations as revenues from contributions. Their reasoning is that only the owners of a business contribute capital. At issue in this approach is whether the company should report revenue immediately or over the period that the asset is employed. For example, to attract new industry a city may offer land, but the receiving enterprise may incur additional costs in the future (e.g., transportation or higher state income taxes) because the location is not the most desirable. As a consequence, some argue that company should defer the revenue and recognize it as the costs are incurred.

In general, companies should recognize contributions received as revenues in the period received.  Companies measure contributions at the fair value of the assets received.

To illustrate, Max Wayer Meat Packing, Inc. has recently accepted a donation of land with a fair value of $150,000 from the Memphis Industrial Development Corp. In return Max Wayer Meat Packing promises to build a packing plant in Memphis. Max Wayer’s entry is:



Land 


       150,000



Contribution Revenue 


150,000

When a company contributes a nonmonetary asset, it should record the amount of the donation as an expense at the fair value of the donated asset. If a difference exists between the fair value of the asset and its book value, the company should recognize a gain or loss. To illustrate, Kline Industries donates land to the city of Los Angeles for a city park. The land cost $80,000 and has a fair value of $110,000. Kline Industries records this donation as follows:


Contribution Expense 

    110,000





Land 



80,000




Gain on Disposal of Land 

30,000

In some cases, companies promise to give (pledge) some type of asset in the future. Should companies record this promise immediately or when they give the assets? If the promise is unconditional (depends only on the passage of time or on demand by the recipient for performance), the company should report the contribution expense and related payable immediately. If the promise is conditional, the company recognizes expense in the period benefited by the contribution, generally when it transfers the asset.
1.4 Treatment of costs incurred subsequent to acquisition
After installing plant assets and readying them for use, a company incurs additional costs that range from ordinary repairs to significant additions. The major problem is allocating these costs to the proper time periods. In general, costs incurred to achieve greater future benefits should be capitalized, whereas expenditures that simply maintain a given level of services should be expensed. In order to capitalize costs, one of three conditions must be present:

i. The useful life of the asset must be increased.

ii. The quantity of units produced from the asset must be increased.

iii. The quality of the units produced must be enhanced.

Major types of Expenditures

ADDITIONS: Increase or extension of existing assets.

IMPROVEMENTS AND REPLACEMENTS: Substitution of an improved asset for an existing one.

REARRANGEMENT AND REINSTALLATION: Movement of assets from one location to another.

REPAIRS: Expenditures that maintain assets in condition for operation.

Additions

By definition, companies capitalize any addition to plant assets because a new asset is created. For example, the addition of a wing to a hospital, or of an air conditioning system to an office, increases the service potential of that facility. Companies should capitalize such expenditures and match them against the revenues that will result in future periods.

Problem arises if any change in an existing structure resulted due to additions, to solve this problem companies initial intent will be observed, if the company from the beginning planned to remove a portion of asset and add on it, the cost of removal will be considered as Additions; but if the company has no intention of additions, it will be a loss for current period caused by inefficient plan.

Improvements and Replacements
Companies substitute one asset for another through improvements and replacements.

An improvement (betterment) is the substitution of a better asset for the one currently used (say, a concrete floor for a wooden floor). 

A replacement, on the other hand, is the substitution of a similar asset (a wooden floor for a wooden floor).

The accounting for improvement and replacement handled in one of three ways;

1. Use the substitution approach.  If the carrying amount of the old asset is available (since different components of assets depreciate at different rate, it could be difficult). It is simply removing the cost of the old asset and replacing it with the cost of the new asset.

Illustration

Instinct Enterprises decides to replace the pipes in its plumbing system. A plumber suggests that the company use plastic tubing in place of the cast iron pipes and copper tubing. The old pipe and tubing have a book value of $15,000 (cost of $150,000 less accumulated depreciation of $135,000), and a scrap value of $1,000. The plastic tubing costs $125,000. If Instinct pays $124,000 for the new tubing after exchanging the old tubing, it makes the following entry:

Plant Assets (plumbing system)


 125,000

Accumulated Depreciation—Plant Assets 

 135,000

Loss on Disposal of Plant Assets 


   14,000




Plant Assets 




150,000



Cash ($125,000 - $1,000) 


124,000

If a company cannot determine the carrying amount of the old asset, it adopts one of two other approaches.

2. Capitalize the new cost. Capitalizes the improvement and keeps the carrying amount of the old asset on the books. The justification for this approach is that the item is sufficiently depreciated to reduce its carrying amount almost to zero.

3. Charge to accumulated depreciation. In cases when a company does not improve the quantity or quality of the asset itself, but instead extends its useful life, the company debits the expenditure to Accumulated Depreciation rather than to an asset account. The theory behind this approach is that the replacement extends the useful life of the asset and thereby recaptures some or all of the past depreciation.

Rearrangement and Reinstallation

Companies incur rearrangement and reinstallation costs to benefit future periods. If a company can determine or estimate the original installation cost and the accumulated depreciation to date, it handles the rearrangement and reinstallation cost as a replacement. If not, which is generally the case, it should capitalize the new costs (if material in amount) as an asset to be amortized over future periods expected to benefit. If these costs are immaterial or if their future benefit is questionable, the company should immediately expense them.

Repairs

A company makes ordinary repairs to maintain plant assets in operating condition. It charges ordinary repairs to an expense account in the period incurred, on the basis that it is the primary period benefited. Maintenance charges that occur regularly include replacing minor parts, lubricating and adjusting equipment, repainting, and cleaning. A company treats these as ordinary operating expenses.

It is often difficult to distinguish a repair from an improvement or replacement. The major consideration is whether the expenditure benefits more than one year or one operating cycle, whichever is longer. If a major repair (such as an overhaul) occurs, several periods will benefit. A company should handle the cost as an addition, improvement, or replacement.

Note: companies are not permitted to accrue in advance for planned major overhaul costs either for interim or annual periods.
1.5  Depreciation and Depletion
1.5.1 Depreciation 

Depreciation is the accounting process of allocating the cost of tangible assets to expense in a systematic and rational manner to those periods expected to benefit from the use of the asset.

Factors Involved in the Depreciation Process

Before establishing a pattern of charges to revenue, a company must answer three basic questions:

1. What depreciable base is to be used for the asset?

2. What is the asset’s useful life?

3. What method of cost apportionment is best for this asset?

1. Depreciable Base for the Asset

The base established for depreciation is a function of two factors: the original cost, and salvage or disposal value. 

Original cost is the cash or cash equivalent price of obtaining the asset and bringing it to the location and condition necessary for its intended use (already discussed). 

Salvage value is the estimated amount that a company will receive when it sells the asset or removes it from service. 

Depreciable base is the amount to which a company writes down or depreciates the asset during its useful life. If an asset has a cost of $10,000 and salvage value of $1,000, its depreciation base is $9,000.



Original cost 


 $10,000



Less: Salvage value 

     1,000



Depreciation base

  $ 9,000

2. Estimation of Service Lives

The service life of an asset often differs from its physical life. A piece of machinery may be physically capable of producing a given product for many years beyond its service life. But a company may not use the equipment for all that time because the cost of producing the product in later years may be too high.

Companies retire assets for two reasons:

Physical factors; the wear and tear, decay, and casualties that make it difficult for the asset to perform indefinitely.

Economic factors; the inadequacy, supersession, and obsolescence of a given asset due to change in demand and availability of more efficient and economical asset that forced companies to retire them.

In determining the useful life of asset most companies based on its past experience with the same or similar assets. Others use sophisticated statistical methods to establish a useful life for accounting purposes. And in some cases, companies select arbitrary service lives.

3. Methods of Depreciation

The third factor involved in the depreciation process is the method of cost apportionment. The profession requires that the depreciation method employed be “systematic and rational.” Companies may use a number of depreciation methods, as follows.

I.  Activity method (units of use or production).

II.  Straight-line method.

III.  Decreasing charge methods (accelerated):



(a) Sum-of-the-years’-digits.



(b) Declining-balance method.

IV.  Special depreciation methods:



(a) Group and composite methods.



(b) Hybrid or combination methods.3

Companies might decide to change depreciation methods and/or change useful life of an asset due to different factors. A change in depreciation method will have its own effect on income statement and balance sheet accounts. changes in depreciation method and changes in useful life are treated in the current and future periods. Prior periods are not affected. 
To illustrate these depreciation methods, assume that Stanley Coal Mines recently purchased an additional crane for digging purposes. The pertinent data concerning this purchase is as follows;

	          cost of crane 
                                        $500,000

          Estimated useful life 


         5 years

          Estimated salvage value 

       $ 50,000

          Productive life in hours 
            30,000 hours


I. Activity Method

The activity method (also called the variable-charge or units-of-production approach) assumes that depreciation is a function of use or productivity, instead of the passage of time. A company considers the life of the asset in terms of either the output it provides (units it produces), or an input measure such as the number of hours it works.

The crane poses no particular depreciation problem. Stanley can measure the usage (hours) relatively easily. If Stanley uses the crane for 4,000 hours the first year, the depreciation charge is:

 
(Cost - salvage) X Hours this year   = Depreciation charge


      Total estimated hours 


              ($500,000 - $50,000)  X 4,000 = $60,000


                        30,000

The major limitation of this method is that it is inappropriate in situations in which depreciation is a function of time instead of activity. For example, a building steadily deteriorates due to the elements (time) regardless of its use. In addition, where economic or functional factors affect an asset, independent of its use, the activity method loses much of its significance. For example, if a company is expanding rapidly, a particular building may soon become obsolete for its intended purposes.

II. Straight-Line Method

The straight-line method considers depreciation a function of time rather than a function of usage. Companies widely use this method because of its simplicity. The straight-line procedure is often the most conceptually appropriate, too. When creeping obsolescence is the primary reason for a limited service life, the decline in usefulness may be constant from period to period. Stanley computes the depreciation charge for the crane as follows.



  __Cost – salvage___
=Depreciation charge

       
               Estimated service life



  $500,000 - $50,000

= $90,000



   5 

The major objection to the straight-line method is that it rests on two tenuous assumptions: 

(1) The asset’s economic usefulness is the same each year, and 

(2) The repair and maintenance expense is essentially the same each period.

III. Decreasing-Charge Methods
The decreasing-charge methods provide for a higher depreciation cost in the earlier years and lower charges in later periods. Because these methods allow for higher early-year charges than in the straight-line method, they are often called accelerated depreciation methods. The rationale for this approach is that companies should charge more depreciation in earlier years because the asset is most productive in its earlier years. Furthermore, the accelerated methods provide a constant cost because the depreciation charge is lower in the later periods, at the time when the repair and maintenance costs are often higher.

Generally, companies use one of two decreasing-charge methods: the sum-of-the-years’-digits method, or the declining-balance method.


a)  Sum-of-the-Years’-Digits
The sum-of-the-years’-digits method results in a decreasing depreciation charge based on a decreasing fraction of depreciable cost (original cost less salvage value). Each fraction uses the sum of the years as a denominator (5 + 4 + 3 + 2 + 1 = 15 for asset having five years life). The numerator is the number of years of estimated life remaining as of the beginning of the year. At the end of the asset’s useful life, the balance remaining should equal the salvage value.

To compute for assets having long life we can use the following formula to determine the denominator; 


n (n+1)
 where “n” is useful life of asset.


     2

Stanley computes depreciation charge for crane by applying this approach as;

	Year
	Depreciation Base
	Remaining Life in Years
	Depreciation Fraction
	Depreciation Expense
	Book

Value, End of Year

	1
	$450,000
	5
	5/15
	$ 150,000
	$ 350,000

	2
	 450,000
	4
	4/15
	120,000
	   230,000

	3
	 450,000
	3
	3/15
	90,000
	   140,000

	4
	 450,000
	2
	2/15
	60,000
	    80,000

	5
	 450,000
	1
	1/15
	30,000
	    50,000 (sv)

	
	
	15
	15/15
	450,000
	


b) Declining-Balance Method. 
The declining-balance method utilizes a depreciation rate (expressed as a percentage) that is some multiple of the straight-line method. For example, the double-declining rate for a 10-year asset is 20 percent. Unlike other methods, the declining-balance method does not deduct the salvage value in computing the depreciation base. The declining-balance rate is multiplied by the book value of the asset at the beginning of each period. Since the depreciation charge reduces the book value of the asset each period, applying the constant-declining balance rate to a successively lower book value results in lower depreciation charges each year. This process continues until the book value of the asset equals its estimated salvage value. At that time the company discontinues depreciation.

Stanley’s depreciation charges if using the double-declining approach looks as follows;

	Year
	Book value of Asset first of year
	Rate on declining balance
	Depreciation expense
	Balance Accumulated depreciation
	Book value, end of year

	1
	500,000
	40%
	200,000
	$200,000
	300,000

	2
	300,000
	40%
	120,000
	320,000
	180,000

	3
	180,000
	40%
	72,000
	392,000
	108,000

	4
	108,000
	40%
	43,200
	435,200
	64,800

	5
	64,800
	40%
	14,800a
	450,000
	50,000

	a Limited to $14,800 because book value should not be less than salvage value.


I. Special Depreciation Methods
Sometimes companies adopt special depreciation methods. Reasons for doing so might be that a company’s assets have unique characteristics, or the nature of the industry. Two of these special methods are:

a) Group and composite methods.

b) Hybrid or combination methods.

a)  Group and composite methods.

Companies often depreciate multiple-asset accounts using one rate. Two methods of depreciating multiple-asset accounts exist: the group method and the composite method. The choice of method depends on the nature of the assets involved. Companies frequently use the group method when the assets are similar in nature and have approximately the same useful lives. They use the composite approach when the assets are dissimilar and have different lives. The group method more closely approximates a single-unit cost procedure because the dispersion from the average is not as great. The computation for group or composite methods is essentially the same: find an average and depreciate on that basis.

Companies determine the composite depreciation rate by dividing the depreciation per year by the total cost of the assets. 

Illustration: Mooney Motors establishes the composite depreciation rate for its fleet of cars, trucks, and campers as shown below;

	Asset
	Original cost
	Residual value
	Depreciation cost
	Estimated life (yrs.)
	Depreciation per year (straight -line)

	Cars
	$ 145,000
	$25,000
	$120,000
	3
	$40,000

	Trucks
	44,000
	4,000
	40,000
	4
	10,000

	Campers
	35,000
	5,000
	30,000
	5
	6,000

	
	$ 224,000
	34,000
	$190,000
	
	56,000

	Composite depreciation rate =   $56,000 = 25%

                                                $224,000                           

	Composite life= 3.39 years ($ 190,000/$56,000)


If there are no changes in the asset account, Mooney will depreciate the group of assets to the residual or salvage value at the rate of $56,000 ($224,000 X 25%) a year. As a result, it will take Mooney 3.39 years to depreciate these assets. The length of time it takes a company to depreciate it assets on a composite basis is called the composite life.

 If Mooney retires an asset before, or after, the average service life of the group is reached, it buries the resulting gain or loss in the Accumulated Depreciation account. This practice is justified because Mooney will retire some assets before the average service life and others after the average life. For this reason, the debit to Accumulated Depreciation is the difference between original cost and cash received. Mooney does not record a gain or loss on disposition.

To illustrate, suppose that Mooney Motors sold one of the campers with a cost of $5,000 for $2,600 at the end of the third year. The entry is:


`
Accumulated Depreciation

 2,400



Cash




 2,600




Cars, Trucks, and Campers


 5,000

If Mooney purchases a new type of asset (mopeds, for example), it must compute a new depreciation rate and apply this rate in subsequent periods.
 IFRS, required companies to use component depreciation. IFRS requires that each part of an item of property, plant, and equipment that is significant to the total cost of the asset must be depreciated separately.
Example: To illustrate the accounting for component depreciation, assume that Ethiopian Airlines purchases an airplane for $100,000,000 on January 1, 2014. The airplane has a useful life of 20 years and a residual value of $0. The airline uses the straight-line method of depreciation for all its airplanes. The airline identifies the following components, amounts, and useful lives, 
	Airplane components
	Components
	
	Component Amount
	
	Component Useful Life

	
	Airframe
	
	$60,000,000
	
	20 years

	
	Engine components
	
	32,000,000
	
	8 years

	
	Other components
	
	8,000,000
	
	5 years


Depreciation expense for Ethiopian Airlines for 2014 would be:
	Components
	Component Amount
	Useful Life
	Component Depreciation

	Airframe
	$60,000,000
	20 years
	$3,000,000

	Engine components
	32,000,000
	8 years
	4,000,000

	Other components
	8,000,000
	5 years
	1,600,000

	Total
	
	
	$8,600,000


Journal entry to record annual depreciation expense
Depreciation Expense
           8,600,000
Accumulated Depreciation—Airplane
8,600,000

In many situations, a company may not have a good understanding of the cost of the individual components purchased. In that case, the cost of individual components should be estimated based on reference to current market prices (if available), discussion with experts in valuation, or use of other reasonable approaches.

Natural resources, often called wasting assets, include petroleum, minerals, and timber. They have two main features: (1) the complete removal (consumption) of the asset, and (2) replacement of the asset only by an act of nature. Unlike plant and equipment, natural resources are consumed physically over the period of use and do not maintain their physical characteristics. Still, the accounting problems associated with natural resources are similar to those encountered with fixed assets. The questions to be answered are:

1. How do companies establish the cost basis for write-off?

2. What pattern of allocation should companies employ?

1.5.2 Depletion 

Depletion the accounting process of allocating the cost of natural resources to expense to those periods expected to benefit from the use of the asset.

Establishing a Depletion Base
Companies involved in extraction of natural resources makes sizable expenditures to find natural resources, and for every successful discovery there are many failures. Furthermore, it encounters long delays between the time it incurs costs and the time it obtains the benefits from the extracted resources. As a result, a company in the extractive industries frequently adopts a conservative policy in accounting for the expenditures related to finding and extracting natural resources.

Computation of the depletion base involves four factors:

1. Acquisition Costs

Acquisition cost is the price a company pays to obtain the property right to search and find an undiscovered natural resource. It also can be the price paid for an already discovered resource. A third type of acquisition cost can be lease payments for property containing a productive natural resource; included in these acquisition costs are royalty payments to the owner of the property.

Generally, the acquisition cost of natural resources is recorded in an account titled Undeveloped Property. The company later assigns that cost to the natural resource if exploration efforts are successful. If the efforts are unsuccessful, it writes off the acquisition cost as a loss.

2. Exploration Costs

As soon as a company has the right to use the property, it often incurs exploration costs needed to find the resource. When exploration costs are substantial, some companies capitalize them into the depletion base. In the oil and gas industry, where the costs of finding the resource are significant and the risks of finding the resource are very uncertain, most large companies expense these costs. Smaller oil and gas companies often capitalize these exploration costs.
3. Development Costs
Companies divide development costs into two parts: 

i. Tangible equipment costs include all of the transportation and other heavy equipment needed to extract the resource and get it ready for market. Because companies can move the heavy equipment from one extracting site to another, companies do not normally include tangible equipment costs in the depletion base. Instead, they use separate depreciation charges to allocate the costs of such equipment. However, some tangible assets (e.g., a drilling rig foundation) cannot be moved. Companies depreciate these assets over their useful life or the life of the resource, whichever is shorter.

ii. Intangible development costs, on the other hand, are such items as drilling costs, tunnels, shafts, and wells. These costs have no tangible characteristics but are needed for the production of the natural resource. Intangible development costs are considered part of the depletion base.
4. Restoration Costs
Companies sometimes incur substantial costs to restore property to its natural state after extraction has occurred. These are restoration costs. Companies consider restoration costs part of the depletion base. The amount included in the depletion base is the fair value of the obligation to restore the property after extraction. Similar to other long-lived assets, companies deduct from the depletion base any salvage value to be received on the property.
Write-Off of Resource Cost

Once the company establishes the depletion base, the next problem is determining how to allocate the cost of the natural resource to accounting periods.

Normally, companies compute depletion on a units-of-production method (an activity approach). Thus, depletion is a function of the number of units extracted during the period.

Example: MaClede Co. acquired the right to use 1,000 acres of land in Alaska to mine for gold. The lease cost is $50,000, and the related exploration costs on the property are $100,000. Intangible development costs incurred in opening the mine are $850,000. Total costs related to the mine before the first ounce of gold is extracted are, therefore, $1,000,000. MaClede estimates that the mine will provide approximately 100,000 ounces of gold.

The computation of the depletion cost per unit (depletion rate) is as follows



Total cost - Salvage value 
   = Depletion cost per unit

  
      Total estimated units available 



$1,000,000= = $10 per ounce



   100,000 

If MaClede extracts 25,000 ounces in the first year, then the depletion for the year is $250,000 (25,000 ounces X $10). It records the depletion as follows.



Inventory (gold) 


250,000




Gold Mine 


            
250,000

MaClede debits Inventory for the total depletion for the year and credits Gold Mine to reduce the carrying value of the natural resource. MaClede credits Inventory when it sells the inventory and debits Cost of Goods Sold. The amount not sold remains in inventory and is reported in the current assets section of the balance sheet.

Sometimes companies use an Accumulated Depletion account. In that case, MaClede’s balance sheet would present the cost of the natural resource and the amount of accumulated depletion entered to date as follows.

	
Gold mine (at cost) 


$1,000,000



Less: Accumulated depletion 

     250,000

$750,000


1.6  Disposition of PPE
A company may retire plant assets voluntarily or dispose of them by sale, exchange, involuntary conversion, or abandonment. Regardless of the type of disposal, depreciation must be taken up to the date of disposition. Then, it should remove all accounts related to the retired asset.

Generally, the book value of the specific plant asset does not equal its disposal value. As a result, a gain or loss develops.

At the end of fiscal period the company should show gains or losses on the disposal of plant assets in the income statement along with other items from customary business activities. However, if it sold, abandoned, spun off, or otherwise disposed of the “operations of a component of a business,” then it should report the results separately in the discontinued operations section of the income statement.

Sale of Plant Assets

Companies record depreciation for the period of time between the date of the last depreciation entry and the date of sale.

Illustration: Assume that Barret Company recorded depreciation on a machine costing $18,000 for 9 years at the rate of $1,200 per year. If it sells the machine in the middle of the tenth year for $7,000, Barret records depreciation to the date of sale as:


Depreciation Expense ($1,200 X 1/2) 
              
600



Accumulated Depreciation—Machinery


      600

The entry for the sale of the asset then is:


Cash 






  7,000


Accumulated Depreciation—Machinery 

11,400


[($1,200 X 9) + $600]




Machinery 





18,000



Gain on Disposal of Machinery 



     400

The book value of the machinery at the time of the sale is $6,600 ($18,000 - $11,400).

Because the machinery sold for $7,000, the amount of the gain on the sale is $400.

Involuntary Conversion

Sometimes an asset’s service is terminated through some type of involuntary conversion such as fire, flood, theft, or condemnation. Companies report the difference between the amount recovered (e.g., from a condemnation award or insurance recovery), if any, and the asset’s book value as a gain or loss. They treat these gains or losses like any other type of disposition. In some cases, these gains or losses may be reported as extraordinary items in the income statement, if the conditions of the disposition are unusual and infrequent in nature.

To illustrate, Camel Transport Corp. had to sell a plant located on company property that stood directly in the path of an interstate highway. For a number of years the state had sought to purchase the land on which the plant stood, but the company resisted. The state ultimately exercised its right of eminent domain, which the courts upheld. In settlement, Camel received $500,000, which substantially exceeded the $200,000 book value of the plant and land (cost of $400,000 less accumulated depreciation of $200,000). Camel made the following entry.



Cash






 500,000



Accumulated Depreciation—Plant Assets 

 200,000





Plant Assets 





400,000





Gain on Disposal of Plant Assets


300,000

If the conditions surrounding the condemnation are judged to be unusual and infrequent,

Camel’s gain of $300,000 is reported as an extraordinary item.

Miscellaneous Problems

If a company scraps or abandons an asset without any cash recovery, it recognizes a loss equal to the asset’s book value. If scrap value exists, the gain or loss that occurs is the difference between the asset’s scrap value and its book value. If an asset still can be used even though it is fully depreciated, it may be kept on the books at historical cost less depreciation.
1.7  Recognizing Impairments

IFRS requires an impairment test at each reporting date for long-lived assets and intangibles. A long-lived tangible asset is impaired when a company is not able to recover the asset’s carrying amount either through using it or by selling it. 
To determine whether an asset is impaired, on an annual basis, companies review the asset for indicators of impairments—that is, a decline in the asset’s cash-generating ability through use or sale. This review should consider internal sources (e.g., adverse changes in performance) and external sources (e.g., adverse changes in the business or regulatory environment) of information. If impairment indicators are present, then an impairment test must be conducted. This test compares the asset’s recoverable amount with its carrying amount. If the carrying amount is higher than the recoverable amount, the difference is an impairment loss. If the recoverable amount is greater than the carrying amount, no impairment is recorded.
Recoverable amount is defined as the higher of fair value less costs to sell or value- in-use. Fair value less costs to sell means what the asset could be sold for after deducting costs of disposal. Value-in-use is the present value of cash flows expected from the future use and eventual sale of the asset at the end of its useful life. 
[image: image1.emf]
If either the fair value less costs to sell or value-in-use is higher than the carrying amount, there is no impairment. If both the fair value less costs to sell and value-in-use are lower than the carrying amount, a loss on impairment occurs.
Example: 
Assume that Cruz Company performs an impairment test for its equipment. How much would be the impairment loss if the carrying amount of Cruz’s equipment is $200,000, its fair value less costs to sell is $180,000, and its value-in-use is 
A. $205,000.?

B. $175,000
In Case A, the value-in-use of Cruz’s equipment is higher than its carrying amount of $200,000. As a result, there is no impairment. (If a company can more readily determine value-in-use (or fair value less costs to sell) and it determines that no impairment is needed, it is not required to compute the other measure.)
In case B, Cruz measures the impairment loss as the difference between the carrying amount of $200,000 and the higher of fair value less costs to sell ($180,000) or value-in-use ($175,000). Cruz therefore uses the fair value less cost of disposal to record an impairment loss of $20,000 ($200,000 2 $180,000). The entry to record the impairment loss becomes
Loss on Impairment 
20,000
Accumulated Depreciation—Equipment 
20,000
Loss on Impairment is reported in the  income  statement  in  the  “Other  income and expense” section. The company then either credits Equipment or Accumulated Depreciation—Equipment to reduce the carrying amount of the equipment for the impairment.
Reversal of Impairment Loss
After recording the impairment loss, the recoverable amount becomes the basis of the impaired asset. What happens if a review in a future year indicates that the asset is no longer impaired because the recoverable amount of the asset is higher than the carrying amount? In that case, the impairment loss may be reversed.
To illustrate, assume that Tan Company purchases equipment on January 1, 2014, for $300,000, with a useful life of three years, and no residual value. Its depreciation and related carrying amount over the three years is as follows.
	
	Year
	
	Depreciation Expense
	
	Carrying Amount

	
	2014
	
	$100,000 ($300,000/3)
	
	$200,000

	
	2015
	
	$100,000 ($300,000/3)
	
	$100,000

	
	2016
	
	$100,000 ($300,000/3)
	
	0


At December 31, 2014, Tan determines it has an impairment loss of $20,000 and therefore makes the following entry.
Loss on Impairment 
20,000
Accumulated Depreciation—Equipment 
20,000
Tan’s depreciation expense and related carrying amount after the impairment
	
	Year
	
	Depreciation Expense
	
	Carrying Amount

	
	2015
	
	$90,000 ($180,000/2)
	
	$90,000

	
	2016
	
	$90,000 ($180,000/2)
	
	0



At the end of 2015, Tan determines that the recoverable amount of the equipment is $96,000, which is greater than its carrying amount of $90,000. In this case, Tan reverses the previously recognized impairment loss with the following entry.
Accumulated Depreciation—Equipment 
6,000
Recovery of Loss from Impairment 
6,000
The recovery of the impairment loss is reported in the “Other income and expense” section of the income statement. The carrying amount of Tan’s equipment is now $96,000 ($90,000 1 $6,000) at December 31, 2015. 
The general rule related to reversals of impairments is as follows. The amount of the recovery of the loss is limited to the carrying amount that would result if the impairment had not occurred. 
For example, the carrying amount of Tan’s equipment at the end of 2015 would be $100,000, assuming no impairment. The $6,000 recovery is therefore permitted because Tan’s carrying amount on the equipment is now only $96,000.
However, any recovery above $10,000 is not permitted. The reason is that any recovery above $10,000 results in Tan carrying the asset at a value above its historical cost.
1.8 Revaluations

Up to this point, we have assumed that companies use the historical cost principle to value long-lived tangible assets after acquisition. However, under IFRS companies have a choice. They may value these assets at cost or at fair value.
When companies choose to fair value their long-lived tangible assets subsequent to acquisition, they account for the change in the fair value by adjusting the appropriate asset account and establishing an unrealized gain on the revalued long-lived tangible asset. This unrealized gain is often referred to as revaluation surplus.
To illustrate the accounting for revaluations of assets, assume that Lenovo Group purchases equipment for $500,000 on January 2, 2014. The equipment has a useful life of five years, is depreciated using the straight-line method of depreciation, and its residual value is zero. Lenovo chooses to revalue its equipment to fair value over the life of the equipment. Lenovo records depreciation expense of $100,000 ($500,000÷5) at December 31, 2014, as follows.


Depreciation Expense               100,000
Accumulated Depreciation—Equipment     100,000

After this entry, Lenovo’s equipment has a carrying amount of $400,000 ($500,000-$100,000). Lenovo receives an independent appraisal for the fair value of equipment at December 31, 2014, which is $460,000 which exceeds its carrying value by $60,000. Thus, we need to increase the carrying value of the equipment to report at fair value. The entry would be

Equipment   

60,000

Unrealized Gain on Revaluation (equipment) 
60,000
The equipment is now reported at its fair value of $460,000 ($500,000 2 $40,000). As an alternative to the one shown here, companies restate on a proportionate basis the cost and accumulated depreciation of the asset, such that the carrying amount of the asset after revaluation equals its revalued amount.

The increase in the fair value of $60,000 is reported on the statement of comprehensive income as other comprehensive income. In addition, the ending balance is reported in accumulated other comprehensive income on the statement of financial position in the equity section.
· What would be the depreciation expense of the next year for Lenovo assuming no change in the useful life of the equipment?
· Depreciation in 2015 is $115,000 ($460,000÷4).
· In summary, a revaluation increase generally goes to equity. A revaluation decrease is reported as an expense (as an impairment loss), unless it offsets previously recorded revaluation increases. If the revaluation increase offsets a revaluation decrease that went to expense, then the increase is reported in income.
1.9 Types of intangible assets
1.9.1 Characteristics of Intangible assets

Intangible assets have three main characteristics. 

· They are identifiable 

· They lack physical existence: unlike tangible assets,  they derive their value from the rights and privileges granted to the company using them but do not have physical form.

· They are not financial instruments: though financial instrument lack physical existence, they are not classified as intangibles.
In most cases, intangible assets provide benefits over a period of years. Therefore, companies normally classify them as long-term assets.
1.9.2 Valuation of Intangible assets

a) Purchased Intangibles

Companies record at cost the intangible assets purchased from another party. Cost includes all acquisition costs plus expenditures to make the intangible asset ready for its intended use. Typical costs include purchase price, legal fees, and other incidental expenses.

Sometimes companies acquire intangibles in exchange for stock or other assets. In such cases, the cost of the intangible is the fair value of the consideration given or the fair value of the intangible received, whichever is more clearly evident. What if a company buys several intangibles, or a combination of intangibles and tangibles? In such a “basket purchase,” the company should allocate the cost on the basis of fair values.

b) Internally Created Intangibles

Sometimes a company may incur substantial research and development costs to create an intangible. Costs incurred internally to create intangibles are generally expensed. However, companies could capitalize only direct costs incurred in developing the intangible, such as legal costs, and expense the rest.
1.9.3 Amortization of Intangibles

The allocation of the cost of intangible assets in a systematic way is called amortization. Intangibles have either a limited (finite) useful life or an indefinite useful life. 

a) Limited-Life Intangibles

Companies amortize their limited-life intangibles by systematic charges to expense over their useful life. The useful life should reflect the periods over which these assets will contribute to cash flows. The amount of amortization expense for a limited-life intangible asset should reflect the pattern in which the company consumes or uses up the asset, if the company can reliably determine that pattern.

The amount of an intangible asset to be amortized should be its cost less residual value. The residual value is assumed to be zero unless at the end of its useful life the intangible asset has value to another company.

If the life of a limited-life intangible asset changes the remaining carrying amount should be amortized over the revised remaining useful life. Companies should, on a regular basis, evaluate the limited-life intangibles for impairment. Similar to the accounting for property, plant, and equipment, an impairment loss should be recognized if the carrying amount of the intangible is not recoverable and its carrying amount exceeds its fair value.
b) Indefinite-Life Intangibles
If no factors (legal, regulatory, contractual, competitive, or other) limit the useful life of an intangible asset, a company considers its useful life indefinite. An indefinite life means that there is no foreseeable limit on the period of time over which the intangible asset is expected to provide cash flows. A company does not amortize an intangible asset with an indefinite life. However, a fair value test is performed for indefinite-life intangibles at least annually; but not recoverability test for these intangibles.
1.9.4 TYPES OF INTANGIBLE ASSETS
There are many different types of intangibles, often classified into the following six major categories.
1. Marketing-related intangible assets.

2. Customer-related intangible assets.

3. Artistic-related intangible assets.

4. Contract-related intangible assets.

5. Technology-related intangible assets.

6. Goodwill.
1. Marketing-related intangible assets.

Companies primarily use marketing-related intangible assets in the marketing or promotion of products or services. Examples are trademarks or trade names, newspaper mastheads, Company name, Internet domain names, and noncompetition agreements. 

A trademark or trade name is a word, phrase, or symbol that distinguishes or identifies a particular company or product. Trade names create immediate product identification in our minds, thereby enhancing marketability. Under common law, the right to use a trademark or trade name, whether registered or not, rests exclusively with the original user as long as the original user continues to use it.

If a company buys a trademark or trade name, it capitalizes the cost at the purchase price. If a company develops a trademark or trade name, it capitalizes costs related to securing it, such as attorney fees, registration fees, design costs, consulting fees, and successful legal defense costs. However, it excludes research and development costs. When the total cost of a trademark or trade name is insignificant, a company simply expenses it. The amortization of this intangible asset Depends on whether it indefinite life or not, if it has indefinitely life no amortization is charged but if not it will charge as discussed above.

2. Customer-related intangible assets.

Customer-related intangible assets result from interactions with outside parties. Examples include customer lists, order or production backlogs, and both contractual and non contractual customer relationships.

To illustrate, assume that Green Market Inc. acquires the customer list of a large newspaper for $6,000,000 on January 1, 2012. This customer database includes name, contact information, order history, and demographic information. Green Market expects to benefit from the information evenly over a three-year period. In this case, the customer list is a limited-life intangible that Green Market should amortize on a straight-line basis.

Green Market records the purchase of the customer list and the amortization of the customer list at the end of each year as follows.

January 1, 2012



Customer List



 6,000,000





Cash 




6,000,000




(To record purchase of customer list)
December 31, 2012, 2013, 2014

Amortization Expense 





2,000,000

Customer List (or Accumulated Customer List Amortization) 


2,000,000



(To record amortization expense)

Note: Companies should assume a zero residual value unless the asset’s useful life is less than the economic life and reliable evidence is available concerning the residual value.
3. Artistic-related intangible assets.

Artistic-related intangible assets involve ownership rights to plays, literary works, musical works, pictures, photographs, and video and audiovisual material. Copyrights protect these ownership rights.

A copyright is a federally granted right that all authors, painters, musicians, sculptors, and other artists have in their creations and expressions. A copyright is granted for the life of the creator plus 70 years. It gives the owner or heirs the exclusive right to reproduce and sell an artistic or published work. Copyrights are not renewable.

Companies capitalize the costs of acquiring and defending a copyright. They amortize any capitalized costs over the useful life of the copyright if less than its legal life (life of the creator plus 70 years). Companies must expense the research and development costs that lead to a copyright as those costs are incurred.

4. Contract-related intangible assets
Contract-related intangible assets represent the value of rights that arise from contractual arrangements. Examples are franchise and licensing agreements, construction permits, broadcast rights, and service or supply contracts.

A franchise is a contractual arrangement under which the franchisor grants the franchisee the right to sell certain products or services, to use certain trademarks or trade names, or to perform certain functions, usually within a designated geographical area.

The franchisor, having developed a unique concept or product, protects its concept or product through a patent, copyright, or trademark or trade name. The franchisee acquires the right to exploit the franchisor’s idea or product by signing a franchise agreement.

Franchises and licenses may be for a definite period of time, for an indefinite period of time, or perpetual. The company securing the franchise or license carries an intangible asset account (entitled Franchise or License) on its books, only when it can identify costs with the acquisition of the operating right. (Such costs might be legal fees or an advance lump-sum payment, for example.) A company should amortize the cost of a franchise (or license) with a limited life as operating expense over the life of the franchise. It should not amortize a franchise with an indefinite life or a perpetual franchise; the company should instead carry such franchises at cost.

Annual payments made under a franchise agreement should be entered as operating expenses in the period in which they are incurred. These payments do not represent an asset since they do not relate to future rights to use the property.

5. Technology-related intangible assets.

Technology-related intangible assets relate to innovations or technological advances. Examples are patented technology and trade secrets granted by Patent and Trademark Office. A patent gives the holder exclusive right to use, manufacture, and sell a product or process for a period of 20 years without interference or infringement by others.

The two principal kinds of patents are product patents, which cover actual physical products, and process patents, which govern the process of making products. If a company purchases a patent from an inventor, the purchase price represents its cost. The company can capitalize other costs incurred in connection with securing a patent, as well as attorneys’ fees and other unrecovered costs of a successful legal suit to protect the patent, as part of the patent cost. However, it must expense as incurred any research and development costs related to the development of the product, process, or idea that it subsequently patents.

Companies should amortize the cost of a patent over its legal life or its useful life (the period in which benefits are received), whichever is shorter. If a company owns a patent from the date it is granted, and expects the patent to be useful during its entire legal life, the company should amortize it over 20 years. If it appears that the patent will be useful for a shorter period of time, say, for five years, it should amortize its cost over five years.

Note: Changing demand, new inventions superseding old ones, inadequacy, and other factors often limit the useful life of a patent to less than the legal life.

The accounting treatment for a patent defense is similar with defending copy right (capitalize). A company charges all unrecovered legal fees and other costs incurred in successfully defending a patent suit to Patents, an asset account. Such costs should be amortized along with acquisition cost over the remaining useful life of the patent.

Amortization expense should reflect the pattern, if reliably determined, in which a company uses up the patent. A company may credit amortization of patents directly to the Patents account or to an Accumulated Patent Amortization account. 

Illustration: Assume that Harcott Co. incurs $180,000 in legal costs on January 1, 2012, to successfully defend a patent. The patent’s useful life is 20 years, amortized on a straight-line basis. Harcott records the legal fees and the amortization at the end of 2012 as follows.

January 1, 2012



Patents 


180,000




Cash 




180,000



(To record legal fees related to patent)

December 31, 2012(To record amortization of patent)

        Amortization Expense 



        9,000



Patents (or Accumulated Patent Amortization) 


9,000

Note: If a patent becomes impaired because demand drops for the product, the asset should be written down or written off immediately to expense.

6. Goodwill

Although companies may capitalize certain costs incurred in developing specifically identifiable assets such as patents and copyrights, the amounts capitalized are generally insignificant. But companies do record material amounts of intangible assets when purchasing intangible assets, particularly in situations involving a business combination (the purchase of another business).

To illustrate, assume that Portofino Company decides to purchase Aquinas Company. In this situation, Portofino measures the assets acquired and the liabilities assumed at fair value. In measuring these assets and liabilities, Portofino must identify all the assets and liabilities of Aquinas. As a result, Portofino may recognize some assets or liabilities not previously recognized by Aquinas. For example, Portofino may recognize intangible assets such as a brand name, patent, or customer list that were not recorded by Aquinas. In this case, Aquinas may not have recognized these assets because they were developed internally and charged to expense.

In many business combinations, the purchasing company records goodwill. Goodwill is measured as the excess of the cost of the purchase over the fair value of the identifiable net assets (assets less liabilities) purchased. For example, if Portofino paid $2,000,000 to purchase Aquinas’s identifiable net assets (with a fair value of $1,500,000), Portofino records goodwill of $500,000. Goodwill is therefore measured as a residual rather than measured directly. That is why goodwill is sometimes referred to as a plug, gap filler, or a master valuation account.
Conceptually, goodwill represents the future economic benefits arising from the other assets acquired in a business combination that are not individually identified and separately recognized. It is often called “the most intangible of the intangible assets,” because it is identified only with the business as a whole. The only way to sell goodwill is to sell the business.

Recording Goodwill

Internally Created Goodwill: Goodwill generated internally should not be capitalized in the accounts. Because measuring the components of goodwill is simply too complex and associating any costs with future benefits is too difficult. The future benefits of goodwill may have no relationship to the costs incurred in the development of that goodwill. To add to the mystery, goodwill may even exist in the absence of specific costs to develop it. Finally, because no objective transaction with outside parties takes place, a great deal of subjectivity—even misrepresentation— may occur.
Purchased Goodwill: As indicated earlier, goodwill is recorded only when an entire business is purchased. To record goodwill, a company compares the fair value of the net tangible and identifiable intangible assets with the purchase price of the acquired business. The difference is considered goodwill. Goodwill is the residual—the excess of cost over fair value of the identifiable net assets acquired.

To illustrate, Multi-Diversified, Inc. decides that it needs a parts division to supplement its existing tractor distributorship. The president of Multi-Dive is interested in buying Tractorling Company, a small concern in Chicago.

The following table presents the balance sheet of Tractorling Company

	Tractorling Co.

Balance Sheet

As of December 31, 2012

	Assets
	Equities

	Cash
	 $   25,000
	Current liabilities
	$   55,000

	Accounts receivable
	      35,000
	Capital stock
	   100,000

	Inventory
	      42,000
	Retained earnings
	   100,000

	Property, Plant & Equipment, net
	    153,000
	
	

	Total assets
	$  255,000
	Total equities
	$  255,000


After considerable negotiation, Tractorling Company decides to accept Multi- Diversified’s offer of $400,000. What, then, is the value of the goodwill, if any? The answer is not obvious. Tractorling’s historical cost-based balance sheet does not disclose the fair values of its identifiable assets. Suppose, though, that as the negotiations progress, Multi-Diversified investigates Tractorling’s underlying assets to determine their fair values. Such an investigation may be accomplished either through a purchase audit undertaken by Multi-Diversified or by an independent appraisal from some other source. The investigation determines the valuations as shown below;





Fair Values



Cash




 $ 25,000



Accounts receivable


    35,000



Inventory 



  122,000



Property, plant, and equipment, net 
               205,000



Patents 



      
  18,000



Liabilities 



   (55,000)



Fair value of net assets 


 $350,000

Normally, differences between current fair value and book value are more common among long-term assets than among current assets. 

The investigation now determines the fair value of net assets to be $350,000, why would Multi-Diversified pay $400,000? Undoubtedly, Tractorling points to its established reputation, good credit rating, top management team, well-trained employees, and so on. These factors make the value of the business greater than $350,000.Multi-Diversified places a premium on the future earning power of these attributes as well as on the basic asset structure of the company today Multi-Diversified labels the difference between the purchase price of $400,000 and the fair value of $350,000 as goodwill. Goodwill is viewed as one or a group of unidentifiable values (intangible assets), the cost of which “is measured by the difference between the cost of the group of assets or enterprise acquired and the sum of the assigned costs of individual tangible and identifiable intangible assets acquired less liabilities assumed.”This procedure for valuation is called a master valuation approach. It assumes goodwill covers all the values that cannot be specifically identified with any identifiable tangible or intangible asset. This approach is presented below





Cash





$ 25,000





Accounts receivable



   35,000





Inventory




 122,000





Property, Plant & Equipment, net

 205,000

Assigned to purchase

Patents





   18,000

Price of $ 400,000

Liabilities




  (55,000)




Fair value of net identifiable assets
          $ 350,000





Purchase price




  400,000

   





Value assigned to good will


   50,000

Multi-Diversified records this transaction as follows.



Cash




 25,000



Accounts Receivable 


 35,000



Inventory 


            122,000



Property, Plant, and Equipment 
205,000



Patents




  18,000



Goodwill



  50,000





Liabilities 




55,000





Cash 




           400,000

Companies often identify goodwill on the balance sheet as the excess of cost over the fair value of the net assets acquired.
Goodwill Write-Off

Companies that recognize goodwill in a business combination consider it to have an indefinite life and therefore should not amortize it. Although goodwill may decrease in value over time, predicting the actual life of goodwill and an appropriate pattern of amortization is extremely difficult. In addition, investors find the amortization charge of little use in evaluating financial performance. Furthermore, the investment community wants to know the amount invested in goodwill, which often is the largest intangible asset on a company’s balance sheet. Therefore, companies adjust its carrying value only when goodwill is impaired. This approach significantly impacts the income statements of some companies.
Bargain Purchase

In a few cases, the purchaser in a business combination pays less than the fair value of the identifiable net assets. Such a situation is referred to as a bargain purchase. A bargain purchase results from a market imperfection: That is, the seller would have been better off to sell the assets individually than in total. However, situations do occur (e.g., a forced liquidation or distressed sale due to the death of a company founder) in which the purchase price is less than the value of the net identifiable assets. This excess amount is recorded as a gain by the purchaser.
An economic gain is inherent in a bargain purchase. The purchaser is better off by the amount by which the fair value of what is acquired exceeds the amount paid. Some expressed concern that some companies may attempt inappropriate gain recognition by making an intentional error in measurement of the assets or liabilities. companies required to disclose the nature of this gain transaction. Such disclosure will help users to better evaluate the quality of the earnings reported.
1.10  Impairment of intangible assets

In some cases, the carrying amount of a long-lived asset (property, plant, and equipment or intangible assets) is not recoverable. Therefore, a company needs a write-off (impaired) the asset. An intangible asset is impaired when a company is not able to recover the asset’s carrying

amount either through using it or by selling it.
To determine whether a long-lived asset (property, plant, and equipment, or intangible asset) is impaired, a review is made of the asset’s cash-generating ability through use or sale. If the carrying amount is 
· higher than the recoverable amount, the difference is an impairment loss. 
· less than the recoverable amount, no impairment is recorded. 
The specific procedures for recording impairments depend on the type of intangible asset—limited-life or indefinite-life (including goodwill).
Impairment of Limited-Life Intangibles

The rules that apply to impairments of property, plant, and equipment also apply to limited-life intangibles. At each statement of financial position date, a company should review limited-life intangibles for impairment. Information indicating that an impairment test should be performed might be internal (e.g., physical damage or adverse changes in performance) or external (e.g., adverse changes in the business or regulatory environment, or technological or competitive developments). If there is an indication that an intangible asset is impaired, the company performs an impairment test: compare the carrying value of the intangible asset to the recoverable amount.

Recall that recoverable amount is defined as the higher of fair value less costs to sell or value-in-use. Fair value less costs to sell means what the asset could be sold for after deducting costs of disposal. Value-in-use is the present value of cash flows expected from the future use and eventual sale of the asset at the end of its useful life. The impairment loss is the carrying amount of the asset less the recoverable amount of the impaired asset. As with other impairments, the loss is reported in profit or loss. 
To illustrate, assume that Lerch, Inc. has a patent on how to extract oil from shale rock, with a carrying value of $5,000,000 at the end of 2014. Unfortunately, several recent nonshale-oil discoveries adversely affected the demand for shale-oil technology, indicating that the patent is impaired. Lerch determines the recoverable amount for the patent, based on value-in-use (because there is no active market for the patent). Lerch estimates the patent’s value-in-use at $2,000,000, based on the discounted expected future net cash flows at its market rate of interest. 
Carrying value of patent 


$5,000,000

Recoverable amount (based on value-in-use) (2,000,000)
Loss on impairment 



$3,000,000


Lerch records this loss as follows:

Loss on Impairment

 3,000,000

Patents 



3,000,000 
After recognizing the impairment, the recoverable amount of $2,000,000 is the new cost basis of the patent. Lerch should amortize the patent’s recoverable amount (new carrying amount) over its remaining useful life or legal life, whichever is shorter.
Reversal of Impairment Loss

What happens if a review in a future year indicates that an intangible asset is no longer impaired because the recoverable amount of the asset is higher than the carrying amount? 
In that case, the impairment loss may be reversed. 
To illustrate, continuing the Lerch patent example, assume that the remaining life of the patent is five years with zero residual value. Recall the carrying value of the patent after impairment is $2,000,000 ($5,000,000 - $3,000,000). Thus, Lerch’s amortization is $400,000 ($2,000,000÷5) over the remaining five years of the patent’s life. The amortization expense and related carrying

amount after the impairment is shown in table below.

Early in 2016, based on improving conditions in the market for shale-oil technology, Lerch remeasures the recoverable amount of the patent to be $1,750,000. In this case, Lerch reverses a portion of the recognized impairment loss with the following entry.

Patents ($1,750,000 2 $1,600,000) 
150,000

Recovery of Loss on Impairment

 150,000
[image: image2.emf]
The recovery of the impairment loss is reported in the “Other income and expense” section of the income statement. The carrying amount of the patent is now $1,750,000 ($1,600,000 1 $150,000). Assuming the remaining life of the patent is four years, Lerch records $437,500 ($1,750,000 4 4) amortization expense in 2016.

Impairment of Indefinite-Life Intangibles Other Than Goodwill

Companies test indefinite-life intangibles (including goodwill) for impairment annually. 

To illustrate, assume that Arcon Radio purchased a broadcast license for $2,000,000. The license is renewable every 10 years if the company provides appropriate service and does not violate Government Communications Commission (GCC) rules. Arcon Radio has renewed the license with the GCC twice, at a minimal cost. Because it expects cash flows to last indefinitely, Arcon reports the license as an indefinite-life intangible asset. Recently, the GCC decided to issue significantly more of these licenses, which will reduce the value of Arcon’s license. Based on recent auctions of similar licenses, Arcon Radio estimates the fair value less costs to sell (the recoverable amount) of its license to be $1,500,000. Arcon therefore reports an impairment loss of $500,000, computed as follows.

Carrying value of broadcast license 



$ 2,000,000

Recoverable amount (based on fair value less costs to sell) (1,500,000)
Loss on impairment





 $ 500,000 
Impairment of Goodwill

The timing of the impairment test for goodwill is the same as that for other indefinite life intangibles. That is, companies must test goodwill at least annually. However, because goodwill generates cash flows only in combination with other assets, the impairment test is conducted based on the cash-generating unit to which the goodwill is assigned. Under IFRS, when a company records goodwill in a business combination, it must assign the goodwill to the cash-generating unit that is expected to benefit from the synergies and other benefits arising from the business combination.

To illustrate, assume that Kohlbuy Corporation has three divisions. It purchased one division, Pritt Products, four years ago, for $2 million. Unfortunately, Pritt experienced operating losses over the last three quarters. Kohlbuy management is now reviewing the division (the cash-generating unit), for purposes of its annual impairment testing. 
List of the Pritt Division’s net assets, including the associated goodwill of $900,000 from the purchase are presented as follows 

Property, plant, and equipment (net) 

$ 800,000

Goodwill 




   900,000

Inventory 




   700,000

Receivables




   300,000

Cash 





   200,000

Accounts and notes payable 
              
 (500,000)
Net assets 




$2,400,000 
Kohlbuy determines the recoverable amount for the Pritt Division to be $2,800,000, based on a value-in-use estimate. 
Because the recoverable amount of the division exceeds the carrying amount of the net assets, Kohlbuy does not recognize any impairment. However, if the recoverable amount for the Pritt Division were less than the carrying amount of the net assets, then Kohlbuy must record an impairment. 
To illustrate, assume that the recoverable amount for the Pritt Division is $1,900,000 instead of $2,800,000. 
Recoverable amount of Pritt Division 
$ 1,900,000

Net identifiable assets 


(2,400,000)
Loss on impairment 



 $ 500,000
Kohlbuy makes the following entry to record the impairment.

Loss on Impairment 

500,000

Goodwill 


500,000

Following this entry, the carrying value of the goodwill is $400,000 ($900,000 2 $500,000). If conditions change in subsequent periods, such that the recoverable amount of the Pritt Division’s assets other than goodwill exceeds their carrying value, Kohlbuy may reverse an impairment loss on the Pritt Division assets other than goodwill. Goodwill impairment loss reversals are not permitted.
Research and Development costs 

Research and development (R&D) costs are not in themselves intangible assets. However these activities frequently result in the development of patents or copyrights (such as a new product, process, idea, formula, composition, or literary work) that may provide future value.

Two difficulties arise in accounting for R&D expenditures: (1) identifying the costs associated with particular activities, projects, or achievements, and (2) determining the magnitude of the future benefits and length of time over which such benefits may be realized. IFRS requires that all research costs be expensed as incurred. Development costs may or may not be expensed as incurred. Once a project moves to the development phase, certain development costs are capitalized. Capitalization begins when the project is far enough along in the process such that the economic benefits of the R&D project will flow to the company (the project is economically viable).
Identifying R&D Activities

Research Activities: Planned search or critical investigation aimed at discovery of new knowledge.

Development Activities: Translation of research findings or other knowledge into a plan or design for a new product or process or for a significant improvement to an existing product or process whether intended for sale or use.

R&D activities do not include routine or periodic alterations to existing products, production lines, manufacturing processes, and other ongoing operations, even though these alterations may represent improvements. For example, routine ongoing efforts to refine, enrich, or improve the qualities of an existing product are not considered R&D activities.

Accounting for R&D Activities

The costs associated with R&D activities and the accounting treatments accorded them are as follows.

1. Materials, equipment, and facilities. Expense the entire costs, unless the items have alternative future uses (in other R&D projects or otherwise). If there are alternative future uses, carry the items as inventory and allocate as consumed, or capitalize and depreciate as used.
2.  Personnel. Expense as incurred salaries, wages, and other related costs of personnel engaged in R&D.
3.  Purchased intangibles. Recognize and measure at fair value. After initial recognition, account for in accordance with their nature (as either limited-life or indefinite life intangibles).
4. Contract services. Expense the costs of services performed by others in connection with the R&D as incurred.
5. Indirect costs. Include a reasonable allocation of indirect costs in R&D costs, except for general and administrative cost, which must be clearly related in order to be included in R&D. 
If a company owns a research facility that conducts R&D activities and that has alternative future uses (in other R&D projects or otherwise), it should capitalize the facility as an operational asset. The company accounts for depreciation and other costs related to such research facilities as R&D expenses.

Many costs have characteristics similar to research and development costs. Examples are:

· Start-up costs for a new operation.

· Initial operating losses.

· Advertising costs.

· Computer software costs.
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